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Question Numbers : (1 to 5)
Question Label : Comprehension



During my vist to Cuttack I participated in the birthday celebration of the late Justice Harihar Mahapatra. 1
went there at the invitation of justice Ranganath Mishra. For me, it was a revelation. how the independence
movement. the first vision for the nation. had created the larger-than-life figure of Justice Harihar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital. Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
speech the youngsters crowding around put forth many questions.

The first question was, "Sir. tells us which are your favourite books. that you loved and which have shaped
your mind?'

I said, 'Four books in my life have been very close to my heart. I cherish treading them. The first is Man the
Unknown by Dr Alexis Carrel. a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular, children who dream of becoming doctors should read the book. They will learn that the
human body a mechanical system it is a very intelligant on with a most intricate and sensitive feedback
system. The second book. one I venerate. 1s Tiruvalluvar's Thirukkural, which provides an excellent code of
life. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran is. of course, a
constant companion.’

Sub questions

Question Number : 1 Question Id : 6863404547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative the book ™an the unknown' highlights that the mind and the
body are to be equally trested in a ailment as they are mtegrated. Replace the underlined word from a suitable
synonym given below.

1. Collaborated
2. Removed
3. Disintegrated
4. Separated

Options :

68634018001. 1
68634018002. 2
68634018003. 3
68634018004. 4

Question Number : 2 Question Id : 6863404548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative. The author participated in the birthday celebration of

L. Justice Ranganath Mishra
2. Dr Alexis Carrel
3. Justice Harthar Mahapatra

4. Lillian Eichler Watson

Options :

68634018005. 1
68634018006. 2
68634018007. 3
68634018008. 4

Question Number : 3 Question Id : 6863404549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thiruklaural

| )

. The Holy Quran

L]

. Light from many lamps
4. Man the unknown

Options :

68634018009. 1
68634018010. 2
68634018011. 3
68634018012. 4

Question Number : 4 Question Id : 6863404550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find a word from the passage that is an antonym to the word 'Conceal'

1. Ailment

(B

. Illuminate
3. Revelation
4, Sensitive
Options :

68634018013. 1
68634018014. 2



68634018015. 3
68634018016. 4

Question Number : 5 Question Id : 6863404551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that means "very complicated."
1. Highlight
2. Multi-pronged
3. Invaluable

4. Intricate

Options :

68634018017. 1
68634018018. 2
68634018019. 3
68634018020. 4

Question Id : 6863404546 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

During my vist to Cuttack I participated in the birthday celebration of the late Justice Harihar Mahapatra. 1
went there at the invitation of justice Ranganath Mishra. For me, it was a revelation. how the independence
movement. the first vision for the nation. had created the larger-than-life figure of Justice Harihar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital. Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
speech the youngsters crowding around put forth many questions.

The first question was, "Sir. tells us which are your favourite books. that you loved and which have shaped
your mind?'

I said, 'Four books in my life have been very close to my heart. I cherish treading them. The first is Man the
Unknown by Dr Alexis Carrel. a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular, children who dream of becoming doctors should read the book. They will learn that the
human body a mechanical system it is a very intelligant on with a most intricate and sensitive feedback
system. The second book. one I venerate. 1s Tiruvalluvar's Thirukkural, which provides an excellent code of
life. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran is. of course, a
constant companion.’

Sub questions

Question Number : 1 Question Id : 6863404547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative the book "Man the unknown' highlights that the mind and the
body are to be equally trested in a ailment as they are integrated. Replace the underlined word from a suitable
synonym given below.

1. Collaborated
2. Removed
3. Disintegrated
4. Separated

Options :

68634018001. 1
68634018002. 2
68634018003. 3
68634018004. 4

Question Number : 2 Question Id : 6863404548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative. The author participated in the birthday celebration of

1. Justice Ranganath Mishra
2. Dr Alexis Carrel
3. Justice Harthar Mahapatra

4, Lillian Eichler Watson

Options :

68634018005. 1
68634018006. 2
68634018007. 3
68634018008. 4

Question Number : 3 Question Id : 6863404549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thiruldaaral

| B

. The Holy Quran
3. Light from many lamps

4. Man the unknown

Options :



68634018009. 1
68634018010. 2
68634018011. 3
68634018012. 4

Question Number : 4 Question Id : 6863404550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find a word from the passage that is an antonym to the word 'Conceal'

1. Ailment

(B

. Illuminate
3. Revelation
4, Sensitive

Options :

68634018013. 1
68634018014. 2
68634018015. 3
68634018016. 4

Question Number : 5 Question Id : 6863404551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that means "very complicated."
1. Highlight
2. Multi-pronged
3. Invaluable

4, Intricate

Options :

68634018017. 1
68634018018. 2
68634018019. 3
68634018020. 4

Sub-Section Number : 2
Sub-Section Id : 686340137
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863404552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT Fill the blanks in List I with suitable prepositional phrases from List II

LISTI LISTII
A |l doubt if she got the job I JAt the very least
B. |They should give me my money back or offer to exchange the shoes| II. |On balance
C. |l thought 1 understood 1t, but I realized it was more complicated I11. |On mernt
D. [ would say that, . the best thing is to do nothing for the moment IV. |On reflection

Choose the most appropriate answer from the options given below:

1. A-III, B-IV. C-1I. D-I

| ]

CA-IL B-III, C-I1. D-IV
3. A-III, B-1, C-IV. D-II
4. A-I1. B-IV, C-I11, D-I

Options :

68634018021. 1
68634018022. 2
68634018023. 3
68634018024. 4

Question Number : 6 Question Id : 6863404552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT Fill the blanks in List I with suitable prepositional phrases from List II

LISTI LISTII
A |l doubt if she got the job I JAt the very least
B. |They should give me my money back or offer to exchange the shoes| II. |On balance
C. |l thought 1 understood 1t, but I realized it was more complicated I11. |On mernt
D. [ would say that, . the best thing is to do nothing for the moment IV. |On reflection

Choose the most appropriate answer from the options given below:

1. A-III, B-IV. C-1I. D-I

| ]

CA-IL B-III, C-I1. D-IV
3. A-III, B-1, C-IV. D-II
4. A-I1. B-IV, C-I11, D-I

Options :

68634018021. 1
68634018022. 2
68634018023. 3
68634018024. 4

Question Number : 7 Question Id : 6863404553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Accepting something unpleasant when one can not avoid of os:

1. Take a Bull by the horn
2. In the blues
3. Black and white
4. Bite the bullet

Options :

68634018025. 1

68634018026. 2

68634018027. 3
68634018028. 4

Question Number : 7 Question Id : 6863404553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Accepting something unpleasant when one can not avoid of os:

1. Take a Bull by the horn

2

. In the blues
3. Black and whaite

4, Bite the bullet

Options :

68634018025. 1
68634018026. 2
68634018027. 3
68634018028. 4

Question Number : 8 Question Id : 6863404554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Normally. a hair allowed to grow uncut will last from two to six year

B. These harmones supress the activity of certain follicles on the scalp so that the life span of the hair that
grows from them 1s reduced

. But as boldness sets in, the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it in reduced to fuzz

. The exact genetic code that causes boldness and thinning still eludes researchers, but they know it 1s has
something to do with make sex harmone called androgens

HOn

Choose the most appropriate answer from the options given below:
1.D,C.A.B.E
2.B.C.D.AE
3.EEB.AC.D
4. E. B, C.D.A

Options :

68634018029. 1
68634018030. 2
68634018031. 3
68634018032. 4

Question Number : 8 Question Id : 6863404554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Normally. a hair allowed to grow uncut will last from two to six year

B. These harmones supress the activity of certain follicles on the scalp so that the life span of the hair that
grows from them 1s reduced

. But as boldness sets in, the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it in reduced to fuzz

. The exact genetic code that causes boldness and thinning still eludes researchers, but they know it 1s has
something to do with make sex harmone called androgens

HOn

Choose the most appropriate answer from the options given below:

1.D,C,A,B,E

[ ]

.B.C.D.AE
3. B, B.ACD
4. E.B.C.D.A

Options :

68634018029. 1
68634018030. 2
68634018031. 3
68634018032. 4



Question Number : 9 Question Id : 6863404555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the options below this sentence should replace it to make 1t grammatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electric car was motivated by economic consideration

2

. My decision to buy an electric car was motivated by economic consideration

[FN]

. My decision to buy an electric car was motivated by economical considerations
4. No correction

Options :

68634018033. 1

68634018034. 2

68634018035. 3
68634018036. 4

Question Number : 9 Question Id : 6863404555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the options below this sentence should replace it to make it grammatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electric car was motivated by economic consideration

2

. My decision to buy an electric car was motivated by economic consideration

[FN]

. My decision to buy an electric car was motivated by economical considerations
4. No correction

Options :

68634018033. 1
68634018034. 2
68634018035. 3
68634018036. 4

Question Number : 10 Question Id : 6863404556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An explosive for firing a bullet or a rocket 1s:

1. Putsch

b2

. Prosody

L¥ 5]

. Propellant
4. Pulmonary

Options :

68634018037. 1
68634018038. 2
68634018039. 3
68634018040. 4

Question Number : 10 Question Id : 6863404556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An explosive for firing a bullet or a rocket 1s:

1. Putsch

2

. Prosody

¥ 5]

. Propellant
4, Pulmonary

Options :

68634018037. 1
68634018038. 2
68634018039. 3
68634018040. 4

Question Number : 11 Question Id : 6863404557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A certain sum fetched simple interest of 23200 at the rate of 6.25% per annum in 4 years. What is the sum?
1.%13000
2. 212800
3. 212500
4. 212000

Options :
68634018041. 1
68634018042. 2



68634018043. 3
68634018044. 4

Question Number : 11 Question Id : 6863404557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum fetched simple interest of 3200 at the rate of 6.25% per annum in 4 years. What 1s the sum?

1. 213000

2

. €12800
3. 212500
4. 212000

Options :

68634018041. 1
68634018042. 2
68634018043. 3
68634018044. 4

Question Number : 12 Question Id : 6863404558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks. Find the maximum marks of the test.

1. 50

[ ]
=]
=]

Options :

68634018045. 1
68634018046. 2
68634018047. 3
68634018048. 4

Question Number : 12 Question Id : 6863404558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks. Find the maximum marks of the test.

1. 50

| ]

. 80
3. 100
4. 150

Options :

68634018045. 1
68634018046. 2
68634018047. 3
68634018048. 4

Question Number : 13 Question Id : 6863404559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . 9 . . . .
If a man increases his speed to — times his usual speed. he reaches his office 24 minutes before the office

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

b2

. 52 minutes
3. 54 minutes

4. 55 minutes

Options :

68634018049. 1
68634018050. 2
68634018051. 3
68634018052. 4

Question Number : 13 Question Id : 6863404559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



: : 9 . : : :
If a man increases his speed to — times his usual speed. he reaches his office 24 minutes before the office
J

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

|

. 52 minutes
3. 54 minutes
4. 55 minutes

Options :

68634018049. 1
68634018050. 2
68634018051. 3
68634018052. 4

Question Number : 14 Question Id : 6863404560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 | | 5
The value of Z- 3+ a2 is

Options :

68634018053. 1
68634018054. 2
68634018055. 3
68634018056. 4

Question Number : 14 Question Id : 6863404560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



b | =

Options :

68634018053. 1
68634018054. 2
68634018055. 3
68634018056. 4

Question Number : 15 Question Id : 6863404561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a right circular cylinder a height 14em is increased in a sphere of radius 8cm then volume of the cylinder

i ol
(in.cm?)- (use 7 = =)

1. 110

[ ]

. 220
3.440

4. 600

Options :

68634018057. 1
68634018058. 2
68634018059. 3
68634018060. 4

Question Number : 15 Question Id : 6863404561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a right circular cylinder a height 14em is increased in a sphere of radius 8cm then volume of the cylinder
; 3 22
(n.em”)- (use r=—).

1. 110

| B

. 220
3.440

4. 600

Options :

68634018057. 1
68634018058. 2
68634018059. 3
68634018060. 4

Question Number : 16 Question Id : 6863404562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1). (2). (3) and (4) completes the figure matrix:

d
%

AAA| T | AA

oy A
OO

XA X

w997

L A

2

Options :

68634018061. 1
68634018062. 2
68634018063. 3
68634018064. 4

Question Number : 16 Question Id : 6863404562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1). (2). (3) and (4) completes the figure matrix:

d
%

AAA| T | AA

oy A
OO

XA X

w997

L A

2

Options :

68634018061. 1
68634018062. 2
68634018063. 3
68634018064. 4

Question Number : 17 Question Id : 6863404563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a photograph, Aman tells his friend. "she is the grand daughter of the elder brothers of my father.
"How is the girl in the photograph related to Aman?

1. Sister
2. Maternal Aunt
3. Niece

4. Aunt

Options :

68634018065. 1
686340180066. 2
68634018067. 3
68634018068. 4

Question Number : 17 Question Id : 6863404563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph, Aman tells his friend. "she is the grand daughter of the elder brothers of my father.
"How is the girl in the photograph related to Aman?

1. Sister
2. Maternal Aunt
3. Niece
4. Aunt
Options :
68634018065. 1
68634018066. 2

68634018067. 3
68634018068. 4

Question Number : 18 Question Id : 6863404564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What should come in place of the questions mark?

11, 20, 38, 74 ?

1. 146

| )

. 154

3.128

4. 136



Options :

68634018069. 1
68634018070. 2
68634018071. 3
68634018072. 4

Question Number : 18 Question Id : 6863404564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What should come in place of the questions mark?
11,20, 38, 74 ?
1. 146

. 154

| )

3.128
4.136

Options :

68634018069. 1
68634018070. 2
68634018071. 3
68634018072. 4

Question Number : 19 Question Id : 6863404565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The giving statement 1s followed by three arguments. Decide which of the options 1s correct about the given
arguments.

Statements: Should seniority be only criterion for promotion in MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, seniors are more experienced and must be rewarded
IIT. No. it would be an injustice to those juniors who are more deserving and suitable for higher position

1.Tand II

2.1 and III

Lag

. Only III
4. Only I
Options :

68634018073. 1
68634018074. 2



68634018075. 3
68634018076. 4

Question Number : 19 Question Id : 6863404565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The giving statement 1s followed by three arguments. Decide which of the options 1s correct about the given
arguments.

Statements: Should seniority be only criterion for promotion in MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, seniors are more experienced and must be rewarded
IIT. No. it would be an injustice to those juniors who are more deserving and suitable for higher position

1.Tand II
2. Il and III
3. Only III
4. Only I
Options :
68634018073. 1
68634018074. 2

68634018075. 3
68634018076. 4

Question Number : 20 Question Id : 6863404566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If QUALITY is coded as 8313927, then GOVERNMENT is coded as:

1. 7645954551

[ ]

. 7645954552
3. 7645954452
4. 8645954552

Options :

68634018077. 1
68634018078. 2
68634018079. 3
68634018080. 4

Question Number : 20 Question Id : 6863404566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
If QUALITY is coded as 8313927, then GOVERNMENT is coded as:

1. 7645954551

[ )

7645954552

Lad

. 7645954452
4. 8645954552

Options :

68634018077. 1
68634018078. 2
68634018079. 3
68634018080. 4

Question Number : 21 Question Id : 6863404567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Name of Padma Vibhushan Awardeg Awarded in the service
A [Ms. Prabha Atre I | Public Affairs
B. PMr Kalyan Singh II. |Literature and Education
C. MMr. Radheyshvam Khemka M1 |Civil Service
D. |General Bipin Rawat IV, |Art

Choose the most appropriate answer from the options given below:

1. A-L. B-II1, C-IV, D-II

[ ]

. A-IV. B-I, C-I11, D-I1
3. A-TV. B-1. C-II. D-III
4. A-L. B-IV, C-II, D-III

Options :

68634018081. 1
68634018082. 2
68634018083. 3
68634018084. 4

Question Number : 21 Question Id : 6863404567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Name of Padma Vibhushan Awardee¢ Awarded in the service
A Ms. Prabha Atre I | Public Affairs
B. [Mr Kalvan Singh IT. |Literature and Education|
C. Mr. Radheyshvam Khemka III. |Civil Service
D. |General Bipin Rawat IV, |Art

Choose the most appropriate answer from the options given below:

1. A-I. B-III, C-IV, D-II

[ ]

. A-TV. B-1. C-I1I. D-T1
3. A-IV. B-1. C-I1. D-III
4. A-I. B-IV. C-I1. D-III

Options :

68634018081. 1

68634018082. 2

68634018083. 3
68634018084. 4

Question Number : 22 Question Id : 6863404568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Date of launching of satellite "Aryabhatta’ is

1. 7 June, 1979

b2

.19 April. 1975
3. 19 June, 1953
4. 07 April, 1981

Options :

68634018085. 1
68634018086. 2
68634018087. 3
68634018088. 4

Question Number : 22 Question Id : 6863404568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Date of launching of satellite "Aryabhatta’ is

1. 7 June, 1979

b2

.19 April. 1975

L¥ 5]

. 19 June, 1953

e

.07 April, 1981

Options :

68634018085. 1
68634018086. 2
68634018087. 3
68634018088. 4

Question Number : 23 Question Id : 6863404569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Due to disease' Pneumomnia'. lungs of the human body are affected.
Statement II: Lungs of human body are also affected due to disease 'Diptheria’
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4., Statement I is incorrect but Statement II is correct
Options :
68634018089. 1
68634018090. 2

68634018091. 3
68634018092. 4

Question Number : 23 Question Id : 6863404569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Due to disease' Pneumonia'. lungs of the human body are affected.
Statement II: Lungs of human body are also affected due to disease 'Diptheria’
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 1s incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634018089. 1
68634018090. 2

68634018091. 3
68634018092. 4

Question Number : 24 Question Id : 6863404570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Passport Sewa Diwas 1s celebrated on which day?

1. 12 March

b2

. 24 June
3. 18 May
4. 20 April

Options :

68634018093. 1
68634018094. 2
68634018095. 3
68634018096. 4

Question Number : 24 Question Id : 6863404570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Passport Sewa Diwas 1s celebrated on which day?

1. 12 March

b2

. 24 June
3. 18 May
4. 20 April

Options :

68634018093. 1
68634018094. 2
68634018095. 3
68634018096. 4

Question Number : 25 Question Id : 6863404571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 10,000 to 225.000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present Z5.000 to 215,000

C. As per election commission, the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects its own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:

1. Aand B only

| )

.A. Cand D only
3. A BandC only

4. A . B. Cand D only

Options :

68634018097. 1
68634018098. 2
68634018099. 3
68634018100. 4

Question Number : 25 Question Id : 6863404571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 310,000 to 325.000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present ¥5.000 to 215,000

C. As per election commission, the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects its own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:
1. A and B only
2. A Cand D only
3.A.Band C only

4. A B, Cand D only

Options :

68634018097. 1
68634018098. 2
68634018099. 3
68634018100. 4

Part B: Medical Laboratory Technology

Section Id : 68634092
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340138
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863404572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



epl120 of HIV binds to human

1.CD8 T cells

[

.CDA T cells
3.Bcells
4. Macrophages

Options :

68634018101. 1
68634018102. 2
68634018103. 3
68634018104. 4

Question Number : 26 Question Id : 6863404572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U9, S, O (HIV) Pl gpl20 AFE S I TUAT &I

1. CD8 T BRI

. CD4 T I

B DIRBTY

I (83 HETPI))

Options :

68634018101. 1

68634018102. 2

68634018103. 3
68634018104. 4

| )

[#5]

=

Question Number : 27 Question Id : 6863404573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Rh Typing is based on the D-Antigen present in:

1. Leucocyte

[

. Thrombocyte

5]

. Erythrocyte

=y

. Lymphocyte

Options :
68634018105. 1



68634018106. 2
68634018107. 3
68634018108. 4

Question Number : 27 Question Id : 6863404573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rh ¥R WITYJT I & SR W B gl
40 FR D] (P TEe)
. fara] (eiwTETge)
TS IR PV (SRYUNEC)
Tty (ferpraTEe)

Options :

68634018105. 1
68634018106. 2
68634018107. 3
68634018108. 4

a—y

[ ]

L]

=S

Question Number : 28 Question Id : 6863404574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'After glycolysis in human. pyruvate 1s transported into

1. Mitochondrion
2. Liver
3. Spleen
4. WBC

Options :

68634018109. 1

68634018110. 2

68634018111. 3
68634018112. 4

Question Number : 28 Question Id : 6863404574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e | TSGRy & 94, Ugede B OeT o gl
1. OIEcrmi=sal

AP

i

 Seeg il 4l

Options :

68634018109. 1
68634018110. 2
68634018111. 3
68634018112. 4

[

L]

e

Question Number : 29 Question Id : 6863404575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Median of the ....... variable value 48.35.36.40.42,54.58,60.15 18

1.49

[ B

.41
3.45
4. 43
Options :
68634018113. 1
68634018114. 2

68634018115. 3
68634018116. 4

Question Number : 29 Question Id : 6863404575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafeiad 71l 1w &:
48. 35, 36, 40, 42, 54, 58, 60, 15

1.49



Options :

68634018113. 1
68634018114. 2
68634018115. 3
68634018116. 4

Question Number : 30 Question Id : 6863404576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Polyacrylamide. Sodium dodeyle sulphate and Acrylamide are chemicals used to
1. Count RBCs
2. Enumerate WBCs
3. Estumate the amount of Haemoglobin
4. Separate protiens, based on molecular weight
Options :
68634018117. 1
68634018118. 2

68634018119. 3
68634018120. 4

Question Number : 30 Question Id : 6863404576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Uriiefhauars s, 9ifsan gauge Setbe ayl UihauaIgs JHTH & foru Wi T oI 81

1. RBC @i 70T

WBC &I TUHET
BTG & 5= &1 TS
4. HUgP YR & YR TR UICTH DI JYD Bl

[

L]

Options :

68634018117. 1
68634018118. 2
68634018119. 3
68634018120. 4

Question Number : 31 Question Id : 6863404577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Quantity of Normal daily secretion of Bile Juices is

1.2.6-3.2 litre

[

.0.5-1 litre
3.2.5-3.5 litre
4.1.5-2.5 litre

Options :

68634018121. 1
68634018122. 2
68634018123. 3
68634018124. 4

Question Number : 31 Question Id : 6863404577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ford T o1 99 S Wau Sl 9ET © -

L] o
| ] =
Jh A
§ ]

[ %) —
3 %:

4.15-25dcR

Options :

68634018121. 1
68634018122. 2
68634018123. 3
68634018124. 4

Question Number : 32 Question Id : 6863404578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

About 90% of human epidermal cells are

1. Keratinocytes

(B

. Melanocytes

5]

. Intraepidermal macrophages
4, Tactile epithelial cells

Options :
68634018125. 1



68634018126. 2
68634018127.3
68634018128. 4

Question Number : 32 Question Id : 6863404578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG IS AT BITRBIHT BT 90% UL © -
1. ffearse
. Q] (HTITST)
. 3T SUSHTAT HaPI]

[

L]

e

Options :

68634018125. 1
68634018126. 2
68634018127. 3
68634018128. 4

Question Number : 33 Question Id : 6863404579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Part of the body controls the thermal sweating:
1. SEBACEOUS
2. APOCRINE
3. ENDOCRINE
4 HYPOTHALAMUS
Options :
68634018129. 1
68634018130. 2

68634018131. 3
68634018132. 4

Question Number : 33 Question Id : 6863404579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T WeA Sl IR & YT gR1 Fafad e S g1
1. dd

3RETal

. 3fcdrdt
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Options :

68634018129. 1

68634018130. 2

68634018131. 3
68634018132. 4

[

L]

=

Question Number : 34 Question Id : 6863404580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The term 'icteric’ implies

1. A condition pertaining to yellowish pigmentation due to jaundice

| )

. Low blood pressure

L]

. High percentage of neutrophils

4. Production of antibodies

Options :

68634018133. 1
68634018134. 2
68634018135. 3
68634018136. 4

Question Number : 34 Question Id : 6863404580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yeg 3R H Algd B
1. diferar & SR did ¥ 9 ST Sawl
[ FieR =g
gt el T G ufawrd
(USTaTSToN) HicReal 1 SdreT

| )

(5]

=

Options :
68634018133. 1



68634018134. 2
68634018135.3
68634018136. 4

Question Number : 35 Question Id : 6863404581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The breast consists of a number of lobules which are made up of
1. Globular Epithelium
2. Peripheral Epithelium
3. Cerebelli Epithelium
4. Columnar Epithelium
Options :
68634018137. 1
68634018138. 2

68634018139.3
68634018140. 4

Question Number : 35 Question Id : 6863404581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
X ggd IR urferprafl (@isge) AR s ngsife A Skisl

TSR (U S

 URIwRd (iufdeay) Suddr

 Heddl (UafdegH) Suda

PR (UUieas) Suee

Options :

68634018137. 1
68634018138. 2
68634018139. 3
68634018140. 4

a—y

[ ]

L]

=

Question Number : 36 Question Id : 6863404582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value below which a given percentage of observation occur is called

1. Average

[

. Percentile
3. Mean
4. Sample size

Options :

68634018141. 1
68634018142. 2
68634018143. 3
68634018144. 4

Question Number : 36 Question Id : 6863404582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfed 5 arel Ui &1 <t et ufrera 3 - %1 5 Sedar e
1. 3 od

| )

AP (RY<5d)

[#%]

CHIY

=

AT 3R

Options :

68634018141. 1
68634018142. 2
68634018143. 3
68634018144. 4

Question Number : 37 Question Id : 6863404583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many numbers of bones maxillae bone. mandible bone, palate bone are in the face:

11,2 2

|
]
=
(]

Options :
68634018145. 1



68634018146. 2
68634018147.3
68634018148. 4

Question Number : 37 Question Id : 6863404583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRRl 1 r: foral He Afdurl oy, Afsaa iRy, Toie oy Iy d 8l &:

1.1,2,2

r2
b
o
(-

Options :

68634018145.
68634018146.
68634018147.
68634018148.

A W N =

Question Number : 38 Question Id : 6863404584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vimentin is

1. An inhibitor of DNA synthesis

2. Not a mntermediate filament

3. Not a component of cytoskeleton

4. An intermediate filament found in cells of mesenchymal origin

Options :

68634018149. 1
68634018150. 2
68634018151. 3
68634018152. 4

Question Number : 38 Question Id : 6863404584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018149. 1
68634018150. 2
68634018151. 3
68634018152. 4

Question Number : 39 Question Id : 6863404585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The smallest structural and functional unit of living tissue 1s:

1. Cell

[

. Cell wall

Lad

. Nucleus

4. Nucleolus
Options :
68634018153. 1
68634018154. 2

68634018155.3
68634018156. 4

Question Number : 39 Question Id : 6863404585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Wifdd SdP & Gad B! GETdd qul $ IS ¢ -
1. PIfRDBI

 pIfRrepT frf

P

4. il

Options :
68634018153. 1

[

L]



68634018154. 2
68634018155.3
68634018156. 4

Question Number : 40 Question Id : 6863404586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Flow cytometry can be used to

1. Count the number of cells
2. Multiply DNA
3. Digest DNA
4, Stain nucleus
Options :
68634018157. 1
68634018158. 2

68634018159. 3
68634018160. 4

Question Number : 40 Question Id : 6863404586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl WIS CIHd &l Jan T oo o Upal ¢
1. PIRADTH P =T 1 0T

BT U DI
Bl U URHA

| )

(5]

4. B5d ARG

Options :

68634018157. 1
68634018158. 2
68634018159. 3
68634018160. 4

Question Number : 41 Question Id : 6863404587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mucus secreting columnar epithelium is called

1. Epithelial cells

b2

. Epithelium cells
3. Goblet cells

4. Fibroblast cells

Options :

68634018161. 1
68634018162. 2
68634018163. 3
68634018164. 4

Question Number : 41 Question Id : 6863404587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

R TAG0T Bl T H IUD Al (e [¥Hfdhetn) Siad-R Thiiaa) & $8d o:
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Options :

68634018161. 1

68634018162. 2

68634018163. 3
68634018164. 4

| )

L]
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Question Number : 42 Question Id : 6863404588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Capsid is a structure found in
1. Virus
2. Fungi

3. Protojoa

4. Amoebae

Options :
68634018165. 1
68634018166. 2



68634018167. 3
68634018168. 4

Question Number : 42 Question Id : 6863404588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIS T TR g ol T grdt S g
 TERY (fauTy)
2. Fad
NIEEIR]
4. 3{wrEr

Options :

68634018165. 1
68634018166. 2
68634018167. 3
68634018168. 4

—

[#5]

Question Number : 43 Question Id : 6863404589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many types of muscles are there in Human body:

1.2

b2
Lad

4.4

Options :

68634018169. 1
68634018170. 2
68634018171. 3
68634018172. 4

Question Number : 43 Question Id : 6863404589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634018169. 1
68634018170. 2
68634018171. 3
68634018172. 4

Question Number : 44 Question Id : 6863404590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Nuecleoid is a structure that lacks

1. Nuclear membrene

(B

. Hereditary material
3. Genetic material

4 DNA

Options :

68634018173. 1
68634018174. 2
68634018175. 3
68634018176. 4

Question Number : 44 Question Id : 6863404590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5D TP T & off ®lg<c P adl gl

| )

SRS (i) gerf

SHe® (HaiRD) uard

[#5]

4. 3LT. T

Options :
68634018173. 1



68634018174. 2
68634018175.3
68634018176. 4

Question Number : 45 Question Id : 6863404591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Red Cell content of the normal spleen is less than % of the total Red Cell volume:

1.5%

[

. 3%
3. 4%
4. 7%

Options :

68634018177. 1
68634018178. 2
68634018179. 3
68634018180. 4

Question Number : 45 Question Id : 6863404591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I g1 H TIe Jakd HI0h] S AT Sl Iad HI0DI & % BT

1.5%

|

. 3%
3. 4%
4. 7%

Options :

68634018177.
68634018178.
68634018179.
68634018180.

A W N =

Question Number : 46 Question Id : 6863404592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mitochondria has an outer and an inner membrane. The inner membrane is folded into sheaf-like ridge
called

1. Lysosome

| ]

. Cristae
3. Endoplasmic reticulum

4. Nucleus

Options :

68634018181. 1
68634018182. 2
68634018183. 3
68634018184. 4

Question Number : 46 Question Id : 6863404592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wﬁwmﬁﬁ?wwm%ﬁmﬁ%lwwwﬂm@ﬁwﬁﬁ
|

1. AEHEH
Tt

TSIl XCIGaH (3fd:-%od! AT
4, HED

Options :

68634018181. 1
68634018182. 2
68634018183. 3
68634018184. 4

[

L]

Question Number : 47 Question Id : 6863404593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Direct Coomb's test is used to detect the auto antibodies on the surface of:
1. WBC
2.RBC
3. Platlate

4. Cell wall

Options :



68634018185. 1
68634018186. 2
68634018187. 3
68634018188. 4

Question Number : 47 Question Id : 6863404593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 5 TRIEI0T &7 T 1 gag R WU R &1 ug=ar=+ & fag fear oiar €1

1. Seeqg, ol I
3R, 1. 4t

feTan] (wicde)
4. HIrB™ R

Options :

68634018185. 1
68634018186. 2
68634018187. 3
68634018188. 4

| )

L

Question Number : 48 Question Id : 6863404594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sigma factor helps the RNA polymerase to have

1. Improved specificity for promoter

| B

. Inhibitory activity for synthesis of DNA
3. Nuclease activity
4. Helicase activity

Options :

68634018189. 1
68634018190. 2
68634018191. 3
68634018192. 4

Question Number : 48 Question Id : 6863404594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T $RS FR.TA.T. UierHs &l eH/@aH § 98 ¢l
TR & forg SR fafRmp
. BI.EA.U HRYYl o g Hegu Tidfafy

 gfeeus fafaf
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Options :

68634018189. 1
68634018190. 2
68634018191. 3
68634018192. 4

a—y

[

L]
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Question Number : 49 Question Id : 6863404595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of colour index indicates that the Red cells are bigger 1n size:

1. More than 1.00

[ ]

.Below 0.85

LF¥]

. More than 1.15
4. Below 0.55

Options :

68634018193. 1

68634018194. 2

68634018195.3
68634018196. 4

Question Number : 49 Question Id : 6863404595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 Gl 1 DI A T8 SR1d BT § [ AT BIRBTE HHR J T3 © -
1. 1.00 § U
0854 Y

1.15 9 3Hf¥s

[ ]

L]

4,055 HH

Options :
68634018193. 1



68634018194. 2
68634018195.3
68634018196. 4

Question Number : 50 Question Id : 6863404596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Golgi apparatus carries out
1. Degradation of amino acids
2. Replication of RNA
3. Synthesis of carbohydrates. complex proteins
4. Generation of ATP
Options :
68634018197. 1
68634018198. 2

68634018199. 3
68634018200. 4

Question Number : 50 Question Id : 6863404596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el SyHRU FRaT &
1. HHFT 35 BT e
 3RUAU. &l yidpfd
 PlaRESe, dfcd WieH & Tayu

4. ATP [ 3l

[

L]

Options :

68634018197. 1
68634018198. 2
68634018199. 3
68634018200. 4

Question Number : 51 Question Id : 6863404597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Main sources of energy to body is:

1. Fat

b2

. Lipid

L¥ 5]

. Protein

e

. Carbohydrate

Options :

68634018201. 1
68634018202. 2
68634018203. 3
68634018204. 4

Question Number : 51 Question Id : 6863404597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRR & [T FHoll &1 580 91d 6
1.adl
fafus
T

4, BEREST

Options :

68634018201. 1
68634018202. 2
68634018203. 3
68634018204. 4

| )

L

Question Number : 52 Question Id : 6863404598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A commonly used fixative i histopathology is

1. Formalin

(B

. Ethidium bromide

5]

. Crystal violet
4. Iodine

Options :
68634018205. 1



68634018206. 2
68634018207. 3
68634018208. 4

Question Number : 52 Question Id : 6863404598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3a® I fagm & g wai fen o arer wrEdier (fragfea) B
1. BT
SlUSlgg dmss
foprea amae
4. AASH
Options :
68634018205. 1
68634018206. 2

68634018207. 3
68634018208. 4

[

L]

Question Number : 53 Question Id : 6863404599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Amino Acid has melting point of about:

1. 200° 300° C

2

. 150°-200° C

3.50°100°C

4, 250°-300°C

Options :

68634018209. 1
68634018210. 2
68634018211. 3
68634018212. 4

Question Number : 53 Question Id : 6863404599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3AfiAT 3t @1 e faeg AT BT &

1. 200°- 300° C

| )

. 150°-200° C
3.50°100°C
4. 250°-300° C

Options :

68634018209. 1
68634018210. 2
68634018211. 3
68634018212. 4

Question Number : 54 Question Id : 6863404600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

SARS-CoV-2 can carry out its binding to host cell using

1. DNA binding protein

| B

. Vitamin

%]

. Mitochondria
4. Angiotensin Converting Enzyme-2 (ACE-2) receptor

Options :

68634018213. 1
68634018214. 2
68634018215. 3
68634018216. 4

Question Number : 54 Question Id : 6863404600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SARS-CoV-2 W YON & Ul SR 9 & Ui g
1. ST S1eH UicH
2. faerfem
3, "Dl
4. TR SeaEddl Goled-2 (ACE-2) el

Options :



68634018213. 1
68634018214. 2
68634018215. 3
68634018216. 4

Question Number : 55 Question Id : 6863404601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mineral used for synthesis of thyroid hormone 1s:

1. Potassium

(B

. Iron
3. Iodine

4, Sodium

Options :

68634018217. 1
68634018218. 2
68634018219. 3
68634018220. 4

Question Number : 55 Question Id : 6863404601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRRISS STHIA HRCINUT &b foTU U g arel @i o
1. Grefimm
TR
3, SIS H
4. TfsaHq
Options :
68634018217. 1
68634018218, 2

68634018219. 3
68634018220. 4

| B

Question Number : 56 Question Id : 6863404602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cytokines include the molecules

1. Interleukins

[

.RNA
3. DNA

4. Antibodies

Options :

68634018221. 1
68634018222. 2
68634018223. 3
68634018224. 4

Question Number : 56 Question Id : 6863404602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UgdleEd § 310] Afferd g1
1. T b

G | B3 L P E
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 UEETSIS Uil

Options :

68634018221. 1

68634018222. 2

68634018223. 3
68634018224. 4

| )

s
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Question Number : 57 Question Id : 6863404603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In 1882, Bacillus of which disease was discovered by Robert Koch:

1. Tuberculosis

[ )

. Cholera
3. Vibrio
4. HIV

Options :

68634018225. 1
68634018226. 2



68634018227.3
68634018228. 4

Question Number : 57 Question Id : 6863404603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1882 H, IaC DI€ gRI b8 I & a4fiery B @Is g

1. qufe® (1)
2. B (PIERI)
3. fafsran
4, Tg. SOl

Options :

68634018225. 1

68634018226. 2

68634018227. 3
68634018228. 4

Question Number : 58 Question Id : 6863404604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Antigen presenting cells include

1. B cell only

(B

. Macrophages and dendritic cells

3. RBCs

=y

. T lymphocytes

Options :

68634018229. 1
68634018230. 2
68634018231. 3
68634018232. 4

Question Number : 58 Question Id : 6863404604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Uahe ®ed! Sifrersii ¥ gfifia 2
1. B DI Had

[

. g8a HEDIY] 3R GHIDIAD (SI5[ch) BIRTDT
R & 5L
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Options :

68634018229. 1
68634018230. 2
68634018231. 3
68634018232. 4

L]

=

Question Number : 59 Question Id : 6863404605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Slope culture 1s known as:

1. Roll tube culture

[

. 5lant culture

LF¥]

. Deep culture
4. Stab culture
Options :
68634018233. 1
68634018234. 2

68634018235.3
68634018236. 4

Question Number : 59 Question Id : 6863404605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y Hae Bl 2 A1 9 o o1 S &:
]I ogd HatA
e dadd
T8 HaeH
4. % q Hae=

Options :
68634018233. 1

fa—y

[

L]



68634018234. 2
68634018235.3
68634018236. 4

Question Number : 60 Question Id : 6863404606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The bacterium Shigella 1s

1. A circular bacterium

[

. Gram positive
3. Not infectious and has a nucleus
4. Gram negative and facullative anaerobe

Options :

68634018237. 1
68634018238. 2
68634018239. 3
68634018240. 4

Question Number : 60 Question Id : 6863404606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
offary] SEaie &:

TS TiAIeR Siar]

U YIS

4, I HUTASD qUT fabedt sraradia

Options :

68634018237. 1
68634018238. 2
68634018239. 3
68634018240. 4

—
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Question Number : 61 Question Id : 6863404607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Immunity which is transfered from one generation to another generation is:

1. Passive Immunity

[ ]

. Active Immunity
3. Natural Immunity
4. Acquired Immunity

Options :

68634018241. 1
68634018242. 2
68634018243. 3
68634018244. 4

Question Number : 61 Question Id : 6863404607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a% UfaRel off U Uil ¥ gas) Uldl § geaiaid &1 T 81, 8
1. sy ufaeen
. ey wicRear

 HTehiciep UfaRer
4. 3Tl wiReaf

Options :

68634018241. 1
68634018242. 2
68634018243. 3
68634018244. 4

| )

[#5]

Question Number : 62 Question Id : 6863404608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Widal test 1s used to detect the infection by bacterium called

1. Proteus

[ ]

. Salmonella

L]

. Clostridium
4. Staphylococus

Options :
68634018245. 1



68634018246. 2
68634018247.3
68634018248. 4

Question Number : 62 Question Id : 6863404608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ErSTal IRT&f0T &7 WaFT 5 SiaTy] gRT faT 1T Wbl &1 g & fad fdsar o &:
1. qifeTg
RIS
FIEiciegn

-~

[

L]

4. il d

Options :

68634018245. 1
68634018246. 2
68634018247. 3
68634018248. 4

Question Number : 63 Question Id : 6863404609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frozen section is used to demonstrate Inclusion:

—

. Lipid

b2

. Glucogen
3. Pigments
4. Secretory granules

Options :

68634018249. 1
68634018250. 2
68634018251. 3
68634018252. 4

Question Number : 63 Question Id : 6863404609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



OTHT G311 SfJwda (P1C) DT Ul HHIAR B WaRid P & [ag fa S 3

¥

e

 HAUDRT (Agd SUI)

Options :

68634018249. 1
68634018250. 2
68634018251. 3
68634018252. 4

Question Number : 64 Question Id : 6863404610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Icosahedral capsid is a term associated with

1. Bacteria

[ B

. Virus

3. Fungi

4, Protozoa
Options :
68634018253. 1
68634018254. 2

68634018255.3
68634018256. 4

Question Number : 64 Question Id : 6863404610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAfREd & ¥ & H-91 Weg "HE P Mo ed Piays” I oS gl
1. Sifary

argRy

[

3. PaD
4, UTETSII3T

Options :
68634018253. 1



68634018254. 2
68634018255.3
68634018256. 4

Question Number : 65 Question Id : 6863404611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fixative used for the fixation of Embryo is:
1. Zenker's fluad
2. Hellu's fluid
3. Bovin's fluid
4, Gender's fluid

Options :

68634018257. 1
68634018258. 2
68634018259. 3
68634018260. 4

Question Number : 65 Question Id : 6863404611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YU & RIRIHRN & (T8 BT ISR &1 HaFT a1 ofrdl 57
1. ST R

2. 5q Rd
3. difd9 dRa
4. S Ad

Options :

68634018257. 1
68634018258. 2
68634018259. 3
68634018260. 4

Question Number : 66 Question Id : 6863404612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Clearing process is done after dehydration to make tissue transparent and for the embedding of
tissue with paraffin.

Reason R: Xylene 1s a colourless most commonly used clearing reagent.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R is NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

68634018261. 1
68634018262. 2
68634018263. 3
68634018264. 4

Question Number : 66 Question Id : 6863404612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:

SHTUBUT A: s/ T Uieha] @ & B SaH B UGl &4 & 8 aUl Ha® & GRIea 3 3id:
QG (TS) & oW &1 ot § |

PRI R: TS TToH &, auT femad Ta Ted Hiieis §

SRI DY & HTalid 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 B
1. A SR R 3 961 € AR R. A Pl Tel AR §

A SRR M U6l § SRR, A DI Hel oA 761 &

AT AGTR IR TSR

4, ATEI TR S AT R WSl &

Options :

68634018261. 1
68634018262. 2
68634018263. 3
68634018264. 4

b2

L]



Question Number : 67 Question Id : 6863404613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason E.

Assertion A: Haemoglobin and Red Blood Cells are below their normal values then condition 1s known as
Anemia.

Reason R: The anemia is common it occurs due to deficiency of iron in body, in lab finding Hb value 13
decreased.
In the light of the above statements, choose the most appropriate answer from the options given below.
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. A1s true but R 1s false
4. A is false but R is true
Options :
68634018265. 1
68634018266. 2

68634018267. 3
68634018268. 4

Question Number : 67 Question Id : 6863404613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYA AU U §, UF @Y (Assertion A) P =9 [Ed § T g8 39% BRI (Reason R) &
0T
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HTROT R: &I S & U8 TRR J @15 @ St T §1aT1 8. IF BrefET I Hb BT A el g g
QRIS BYH & HTclid 1, A1 f3U U fdsedi T I 9 Sugad STk &1 94 S

1. A SR R 3 91 § 3R R, A DI Tel ARA &

2. A SR R I W8T € SR R, A &1 Ot o el §

3 AT R PR TR IS

4. AGEI TR AT R WET ®

Options :
68634018265. 1
68634018266. 2




68634018267. 3
68634018268. 4

Question Number : 68 Question Id : 6863404614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: LE cells appear as neutrophils containing a large spherical body in their cytoplasm.

Reason R: LE cells appear as basophils contamning a large spherical body in their cytoplasm.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R are true and R 1s NOT the correct explanation of A
3. Ais true but R is false
4. A is false but R is true

Options :

68634018269. 1

68634018270. 2

68634018271.3
68634018272. 4

Question Number : 68 Question Id : 6863404614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYA AU U §, UF @Y (Assertion A) P =9 [Ed § T g8 39% BRI (Reason R) &
0T

HTUBUT A: L E DI . LIl 1 e UPe sldl § [o19d HIRID] 500 H U g9 MATPR P 6
BRI R: L E HIRSHT SHIHT B 038 HHE Il 3 (o DI1PI 560 H U Fo! MATHR AP 5
SWRIGI BYH & H1ciid H, i f3U U fdsedi T I 9 Sugad SR &1 94+ S

1. A 3R R 31 91 § SRR, A P! Hel URAT &

2. A SR R I W8T € SR R, A T Ot o el §

3 ATSI R TR TR IS

4 AGEI TR AP R WET ®

Options :
68634018269. 1
68634018270. 2




68634018271.3
68634018272. 4

Question Number : 69 Question Id : 6863404615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
" - . o "
Assertion A: The area of the Neaubauer chamber 1s 9mm* and depth 1s 0.2 mm.

Reason R: The area of the Neaubauer chamber is 9mm® and depth is 0.1 mm.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

68634018273. 1
68634018274. 2
68634018275. 3
68634018276. 4

Question Number : 69 Question Id : 6863404615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:

TYPYUT A: €= TR Bl SFAHE 0 mm? TUT R IR é 0.2 111111%|

PRI R: AEIIR TR BT &FH 0 mm? IUT TES 0.1 mm B
SWRIGd BYH & HTaile |, i< f3U U fdsedi T I 9 Sugad 3wk &1 99 S
1. A SR R I 961 § 3R R, A DI Tel ARAT &
2. A SR R I W8T € SRR, A T Ot o el §
3 AT R PR TR IS
4 AT TR g dAfbTR TET ©

Options :




68634018273. 1
68634018274. 2
68634018275. 3
68634018276. 4

Question Number : 70 Question Id : 6863404616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Mycobacterium can survive in macrophages of lungs of human.
Reason R: Mycobacterium can prevent the fusion of phagosome and lyposome in the macrophages of human

lungs.

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is NOT the correct explanation of A

3. Ais true but R is falze

4, A is false but R is true

Options :

68634018277. 1
68634018278. 2
68634018279. 3
68634018280. 4

Question Number : 70 Question Id : 6863404616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &l YA (AU T §, Ud SH@HYT (Assertion A) P &9 1 R & ol GHRT 39 BRI (Reason R) &
g H:

SUBYT A: TFd SFHH H ggg &SI T AEdiaacigd sifdd 36 9l ¢
PRI R: TFd PFHY 1 984 Y& H OIEddad IRaH AgarbH ayl BIE &1 faed I Jodl
SWRIGI Y & 3HTaild 1, H1d 3y 7Y fdeedi T I 96 Sugad SR &1 99 B
1. A SR R 3 981 € AR R. A Pl Jgl AR 8
A 3R R Ml U6l § SRR, A D el oURSAT 761 &
AT AGTR IR TSR
4, AEI TR S AT R WSl &

Options :

68634018277. 1
68634018278. 2
68634018279. 3
68634018280. 4

b2

L]

Question Number : 71 Question Id : 6863404617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Bacillus can form spores that aid in survival in unfavourable conditions.

Reason R: Salmonella has an outer membrane.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

68634018281. 1
68634018282. 2
68634018283. 3
68634018284. 4



Question Number : 71 Question Id : 6863404617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYA AU U §, UF @Y (Assertion A) P =9 [Ed § T g8 39% BRI (Reason R) &
0T

HTUTYT A: ST TR (GS0]) T4 T@d § o Uiadd gRiufad 8 Sifdd 36 @ 980 o |
HROT R: FAHA B TP a6t (4RI Shdl 8
SWRIGI BYH & H1ciid H, i f3U U fdsedi T I 9 Sugad SR &1 94+ S

1. A 3R R 31 91 § SRR, A P! Hel URAT &

2. A SR R I W8T € SR R, A T Ot o el §

3 ATSI R TR TR IS

4 AGEI TR AP R WET ®

Options :

68634018281. 1
68634018282. 2
68634018283. 3
68634018284. 4

Question Number : 72 Question Id : 6863404618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Gram positive bacteria have a prominent layer that surrounds the cells. called Peptidoglycan.

Reason R: Gram negative bacteria have outer membrane that contains lipids and proteins.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. Ais true but R is falze

4, A is false but R is true

Options :

68634018285. 1
68634018286. 2
68634018287. 3



68634018288. 4

Question Number : 72 Question Id : 6863404618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl YA AU T §, U SHIUDHUA (Assertion A) P & H [H1REd ¢ Al gERT 39 BRI (Reason R) &
U

&rﬁ-lﬁiug A: UM TS SlaTU]s T Ush Uae URd gl & Gl IRl &l B Igdl & aul S Hars-
Feadi gl

®ROT R: 919 BUNES Gia10] § U &l Ud gidl & forgd fdlUs aul UieH gld 5|

SWRIE HY & 3Tclie H, i fau Y fdeedl § 9 a8 Suged SR &1 90 SIfeT:
1. A R R 3 981 € AR R, A D! & RS B

A SRR M 6§ AR R. A D el R 81 §

AT AR TR AL

4, AT TR g AfpT R WS ©

Options :

68634018285. 1
68634018286. 2
68634018287. 3
68634018288. 4

b2

Laa

Question Number : 73 Question Id : 6863404619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order steps for Erythrocyte Sedimentation Rate protocol needs be determined

A. Westergren tube 1s allowed to stand stationary with blood sample for 1 hour.

B. The collected blood 1s taken in Westergren tube

C. Blood sample is taken from vein in anticoagulant tube

D. The settled RBCs are observed the level of the dark red liquid 1s observed in mm.

Choose the correct answer from the options given below:
1LABC.D
22A C.B.D
3.C.B.A.D
4. D.C A B

Options :
68634018289. 1



68634018290. 2
68634018291. 3
68634018292. 4

Question Number : 73 Question Id : 6863404619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<Tel Yk BIVIPT b ATl a2 UIeihld & TR el H T oaieyd HIfet:

A. IR T B1 Iad 5T 1 gel RR 81 & fou xar S g

B. YUfed Yad &1 G- dl | forar sar g

C. U% G2l SIuet ot 8§ fRR1 3 3ad &1 751 fomn S g

D. Jaaied A& . &1 Hem {5 SIar |, T8 A oid &1 TR mm 5 U&7 fd5ar S g1

- fau Y fawed! & 9 Hel SR o 90 Sifvie:

1A B C D

| ]

A C.B.D
3.C,B,A,D
4 D.C.A.B

Options :

68634018289. 1
68634018290. 2
68634018291. 3
68634018292. 4

Question Number : 74 Question Id : 6863404620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order of steps in Western Blotting needs to be determined.

A. Loading of protein in the wells of polyaerylamide gel

B. Enhancement of polymerization of gel and cross linking of Aerylamide and Polyacrylamide
C. Transfer of protein to nitrocellulose with the help of electric current

D. Carrying out sodium dodecyl sulphate-polyacrylamide gel electrophoresis

Choose the correct answer from the options given below:

LB.ADC

| )

.C.A.D.B
3.B.A.C.D
4. A B.C.D

Options :
68634018293. 1



68634018294. 2
68634018295.3
68634018296. 4

Question Number : 74 Question Id : 6863404620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aReH SITed] & RO D1 el $H § oIqeyd Hifeig:

A. TS UPTS OIS S Sid & dd H Wi BT YR (@MS)

B. Wit & ST DUl Bl dgdr BT dU ThIgd UHISS dUl Ulcil Ushlgdl THISS H g IS
C. UICH &1 Agc egaiel H SRl YRT WUTE & Jerdl I

D. HIf$TH SoHgd et UldiUhlgd UHISS Wid Saideith RIEH &1 98- -l

- fau Y famedt & 9 Tel ST o 904 Sifvie:

et 2 - et e

2

.C.A,D.B
3.B,A.C.D
4 A B C.D

Options :

68634018293. 1
68634018294. 2
68634018295. 3
68634018296. 4

Question Number : 75 Question Id : 6863404621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the citric acid cycle. a number of reactions are involved. The correct order needs to be determined

A. Conversion of fumarate to malate

B. Production of a-ketoglutarate from Isocitrate
C. Production of Oxaloacetate from Malate

D. Synthesis of Isocitrate from Citrate

Choose the correct answer from the options given below:

1.AB, I, C

| )

.D,C.B.A
3.D,B.AC
4. A.D.B.C

Options :



68634018297. 1
68634018298. 2
68634018299. 3
68634018300. 4

Question Number : 75 Question Id : 6863404621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qrgfcs sl 9o 8, By sifcburd wfdferd 8, 5% ufed gH o 98l oH H oyaflyd S

A. WIHYE D1 HelE § daal
B. HISHIHISC U o-PICHcT BT IAIG
C. Hole I sTaidiudice ol 3dig

D. Rice ¥ sediffide &1 ey

Ty

i fau 0 f[daredl | U Uel 3R &1 904 Big;

1.LA.B.D.C
2D,C.B.A
S B A
4 AD.B.C

Options :

68634018297. 1
68634018298. 2
68634018299. 3
68634018300. 4

Question Number : 76 Question Id : 6863404622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The steps for cloning of gene need to be arranged proper order

A. Restriction digestion of gene and the plasmid

B. Identification of gene and amplification of gene by polymerase chain reaction
C. Ligation of digested gene with digested plasmid

D. Preparation of competent cells and transformation of cells with ligated DNA
E. Confirmation of cloning by PCR with the products of ligation.
1.B.A.C.D.,E

2.A,B,€,D,E

3:D, BB G

4.D.E.B.C.A

Options :



68634018301. 1
68634018302. 2
68634018303. 3
68634018304. 4

Question Number : 76 Question Id : 6863404622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SH FAT & =ROT 1 Wel oA H oqafyd Sifon:

A, SIF auUT WS &1 widsEied ara

B. SiIF &1 UgdH quT giferiea Saar {fifesar 3 offF &1 vae=
C. UIiId @feHs & A1 i it &1 Ss-1

D. F&H ST & TaR U1 IS 5 S1.UA.L. & I ST S TiaR0
E. U181 3R, & gRI ASI9H (SS) & TGl §RT Tl &I gfy

A feu 7Y fawedt # 9 Tel SR o1 90 S

1.BACDE

2L A B CBH
3.D.E.A,B.C
4. D, E,B,C,A

Options :

68634018301. 1
68634018302. 2
68634018303. 3
68634018304. 4

Question Number : 77 Question Id : 6863404623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is correct sequence of coagulation?

A. Formation of "Fibrin Plug" or the Final Clot
B. Activation of the coagulation cascade

C. Formation of temporary "Platelet Plug"

D. Constriction of the blood vessel

Choose the correct answer from the options given below:
1.D.B.A.C
2.B.C.D. A
3.C.D.B.A

4.D.C.B.A

Options :

68634018305. 1
68634018306. 2
68634018307. 3
68634018308. 4

Question Number : 77 Question Id : 6863404623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g @1 9el % a1 87
A, "BIEfEE T g1 3ifdH YgHT ST
B. The- 919 &1 i gl

C. “fawam @ 1 SR Faf
D. 38R qlig®1 &1 i

+rd fau U faswedl § U el IR &1 994 Sifoid:

1.D.B.A.C
2.8, 2. TA
JC.D.B.A
4. D.C.B.A

Options :

68634018305. 1

68634018306. 2

68634018307. 3
68634018308. 4

Question Number : 78 Question Id : 6863404624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Following steps are taken for the tissue processing in histopathological lab:

A. Clearing

B. Dehydration

C. Infiltration & Impregnation
D. Fixation

Choose the correct answer from the options given below:
1.D.B.A.C
2.A,B,D,C
3.C,D;A.B

4.B.A.C.D

Options :

68634018309. 1
68634018310. 2
68634018311. 3
68634018312. 4

Question Number : 78 Question Id : 6863404624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHadRIToHS TaHTee § Sdd ulehar & feru fAg 9w fad a8, soafaug sifoie:

A fdem

B. feidigw

C. 3tk WeH Ul TU=IdHRT
D. [ERI&I

i fau 0 f[daredl | U Uel 3R &1 904 Big;

LB B.AC

[ ]

AB.DE
JC.D.AB
4. B.A.C.D
Options :
68634018309. 1
68634018310. 2

68634018311. 3
68634018312. 4

Question Number : 79 Question Id : 6863404625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :



No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arrange the following parts of human lymphatic system from up to down in correct order :

A Tonsils

B. Adenoids

C. Thymus

D. Spleen

E. Pelvic lymph nodes

Choose the correct answer from the options given below:

LADECB

[ ]

BALBIDLE
3CCEA DB
4. B.A.C.D.E

Options :

68634018313. 1
68634018314. 2
68634018315. 3
68634018316. 4

Question Number : 79 Question Id : 6863404625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-G THIHT & U B FHR Y Ad & HH H ogaieyd Sifo:

A, TINE
B. UsA10sY

C. YigHd

D. witgl
E. Ufeam adier dadi

A feu 7Y fawedt # 9 Tel SR o1 90 S

1.ADECHE

[ ]

EABDE
3.C,E.A.D.B
4.B,A.C,D.E

Options :

68634018313. 1

68634018314. 2
68634018315.3



68634018316. 4

Question Number : 80 Question Id : 6863404626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Lipase belongs to the enzyme class lyases.

Statement II: GGT enzyme level becomes very high in the case of obstruction jaundice.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement [ and Statement II are incorrect

3. Statement I 15 correct but Statement IT is incorrect

4, Statement [ 1s incorrect but Statement II is correct

Options :

68634018317. 1
68634018318. 2
68634018319. 3
68634018320. 4

Question Number : 80 Question Id : 6863404626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3l By fGU U
PYF1: A0 TAsH & A5y o J 9T o
®Y II: GGT UHIsH aidea Qisd (siaxidl yiferm) I agd wurel gl @l g |
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. FYF RIS T &
2. BYF1 IR 11 ST AT

3. PYT I 9 . Al PUT I 3T o

4 PYTI IR, AT P I Ta B

Options :

68634018317. 1
68634018318. 2
68634018319. 3



68634018320. 4

Question Number : 81 Question Id : 6863404627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In friedewald equation for caleulating VLD2-VLDL mg/dI=TG/5

Statement II: In friedewald equation for calculating VLD2-VLDL mg/dI=TG/3

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

| B

. Both Statement [ and Statement II are incorrect
3. Statement I 15 correct but Statement IT is incorrect

4, Statement [ 15 incorrect but Statement II is correct

Options :

68634018321. 1
68634018322. 2
68634018323. 3
68634018324. 4

Question Number : 81 Question Id : 6863404627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- gl YA f[Gu T &
YA I: ITSdes JHIHRU H vLD2 Bt T0HT & &8 VDL mg/di=TG/5
YA II: WIgsdes YHIHI0 § VLD2 HI TUHI & (6T VLDL me/dI=TG/3
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. HYTI IR IS TT S
2 Y AR I AT 3T

3. PU 1 UA €. A S 11 3T ©

4 PYTI IR, AT P I Ta B

Options :

68634018321. 1
68634018322. 2
68634018323. 3
68634018324. 4



Question Number : 82 Question Id : 6863404628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Acid phosphatase estimation is done in the disease related to Thyroid.

Statement II: Cerebrospinal fluid samples are collected by physician.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement [ and Statement II are incorrect

3. Statement I 15 correct but Statement IT is incorrect

4, Statement [ 1s incorrect but Statement II is correct

Options :

68634018325. 1
68634018326. 2
68634018327. 3
68634018328. 4

Question Number : 82 Question Id : 6863404628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

BYF 1: 3 BBy Ha- UiNgs I grafad 307  fear aar gl

®Y I1: YA YIS did 49 [Hibd® gRI USHd [ A g |

SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. YIRS Td &
2. B 1 IR 11 AT ST §

3. PU 1 UA €. A S 11 3T ©

4 PYTI IR, AT P I Ta B

Options :

68634018325. 1
68634018326. 2
68634018327. 3
68634018328. 4



Question Number : 83 Question Id : 6863404629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The Heart is inferior to the clavicle.

Statement II: Cardiac output is heart rate multiplied by stroke volume.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4, Statement [ 1s false but Statement II is true

Options :

68634018329. 1
68634018330. 2
68634018331. 3
68634018332. 4

Question Number : 83 Question Id : 6863404629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

YT I: a0 wifded 4 A g siar gl

HY IL: BISUS TS eYe, aUd T EKIP I gl

SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. YIRS Td &
2. B 1 IR 11 AT ST §

3. PU 1 UA €. A S 11 3T ©

4. BYT TS, AP TP I &

Options :

68634018329. 1
68634018330. 2
68634018331. 3
68634018332. 4



Question Number : 84 Question Id : 6863404630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Streptococcus pneumoniae causes pneumonia

Statement II: Salmonella 1s a Gram negative bacterial pathogen.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4, Statement [ 1s false but Statement II is true

Options :

68634018333. 1
68634018334. 2
68634018335. 3
68634018336. 4

Question Number : 84 Question Id : 6863404630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3l By fGU U
®Y I: WU IBIHH a1 I glar g |
®Y I1: FIGHHAT U AH HBUTHD Siar] I 9D 6|
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. FYF RIS T &
2. BYF1 IR 11 ST AT

3. PU 1 UA €. A S 11 3T ©

4. BYT TS, AP TP I &

Options :

68634018333. 1
68634018334. 2
68634018335. 3
68634018336. 4



Question Number : 85 Question Id : 6863404631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Alpha ketoglutarate is produced by the action of Isocitrate dehydrogenase.

Statement II: Phosphofructokinase is an enzyme that aids in the occurance of glycolysis.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4, Statement [ 1s false but Statement II is true

Options :

68634018337. 1
68634018338. 2
68634018339. 3
68634018340. 4

Question Number : 85 Question Id : 6863404631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS sy RRumuE:
®Y I: UeHI-DICICRE SSHMEISCE Slelegio-d @l [ohdl gRI SdIidd gial g |

BYF I1: BB A HISd Uh UagH ¢ ol [Wigdias ey & gfed 84 & Ig/ad &dl o
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:

1. PYF 1 AR 11 GH 9 &

2. BY 1 R 11 ST 3T §

3. PU 1 UA €. A S 11 3T ©

4 PYTI IR, AT P I Ta B

Options :

68634018337. 1
68634018338. 2
68634018339. 3
68634018340. 4



Question Number : 86 Question Id : 6863404632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Collagen is a fibrous protein.

Statement II: Hydroxyprolyl and hydroxylysyl residues are never seen in collagen.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4, Statement [ 1s false but Statement II is true

Options :

68634018341. 1
68634018342. 2
68634018343. 3
68634018344. 4

Question Number : 86 Question Id : 6863404632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3l By fGU U
HYF I: DIcio U aqud UicH ¢ |
FYTIL: g AIIIAEd aUl s oy ag e Haf¥y ®ide- 4 &3l 981 W w1d g1
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. FYF RIS T &
2. BYF1 IR 11 ST AT

3. PYT I 9 . Al PUT I 3T o

4. BYT TS, AP TP I &

Options :
68634018341. 1
68634018342. 2



68634018343.3
68634018344. 4

Question Number : 87 Question Id : 6863404633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Read the following statement:

A There 1s Antigen -A on the surface of RBC of a person the blood group 1s -A
B. In Azoospermia no dead or alive sperm seen

C. If there 1s antigen-A on RBC of a person then his serum contam Anti-A Antibody
D. Cells formed i the liver are called to be exlubiting myeloid stage

Choose the correct answer from the options given below:
1. C and D only
2. B and C only
3. Aand B only

4. D and A only

Options :

68634018345. 1
68634018346. 2
68634018347. 3
68634018348. 4

Question Number : 87 Question Id : 6863404633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafeRad Syl o1 erEgde uieu:
A, T7% forelt oafd & SR Al 4T, & FeR R Wi (UTo) A SUfYd § O SHPI e G AT
B. TsHEIHA1 @15 Td a1 siifad Yeh10] 7ol faad]
C. ofe {5 oofda & SRl I, TR Uieo A § 0 SUe IRA H uid-A wiireft (T2 A T a8 Afea
gt
D. 0% d 7 &1 g3 SIS AUaTs SHaw S2idl &

i fou 7Tt fawedl © § 9El STR &1 997 Fifult:
1. %ad C AR D
2. $ad B IR C
3.%ad A IR B
4.PadD AR A

Options :



68634018345. 1
68634018346. 2
68634018347. 3
68634018348. 4

Question Number : 88 Question Id : 6863404634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A Platelets contain low concentration of 7HT

B. Melanin is the pigment of skin hair and eye

C. The largest amount of serotonin is synthesized in the intestinal cells
D. Serotonin is regarded as a happiness hormone

Choose the correct answer from the options given below:

1. A.D. C only

| B)

.B. C. A only
3.D.A.B only
4.B.C.D only

Options :

68634018349. 1

68634018350. 2

68634018351.3
68634018352. 4

Question Number : 88 Question Id : 6863404634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafeiad Syl o1 eEgde ufeu:
A. ferampstt (@edes) ¥ 7 5T &1 g Figardidt R
B. HA{ 1, 919 g 3 o1 avfe (mi) &

C. I BT TG AT A= AT B SIR@H1e) § TN Bl ©
D. I &1 g<ft F1 gl ft wer o 8

i f4U 77U fasedl § 9 98l SR &1 99 St
1.$dud A, D, C
2. $dd B, C,A
3. $dUD.A. B
4. $4qdB.C.D



Options :

68634018349. 1
68634018350. 2
68634018351. 3
68634018352. 4

Question Number : 89 Question Id : 6863404635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statement:

A Fallopian tubes are also called oviduct

B. The other name of Skeletal muscles tissue 1s Involuntary muscles
C. Eggs released by Graffian follicle reaches to oviduct

D. Cranmm is formed by 7 bones.

Choose the correct answer from the options given below:
1. D and B only
2. Aand D only
3. Aand C only

4. B and D only

Options :

68634018353. 1
68634018354. 2
68634018355. 3
68634018356. 4

Question Number : 89 Question Id : 6863404635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 U 77U oA #t earYd e ufen:

A. BaIg= e & siganfe-t Afes 1 Fed

B. Hapd g HIUT FHad &1 GERl A Hfwsd AUzl §

C. e gfewT gR1 Wi f&ar mar sism) (sidisae) sfs arfe-it Afaew & ugadi 8
D. $hf=am 7 3R 9§ faax ST 8lar 8

i fou 7Tt fawedl © § 9El STR &1 997 Hifult:
1. $ad D AR B
2. $ad A 3R D
3. P AARC
4.%ad B IR D

Options :

68634018353. 1
68634018354. 2
68634018355. 3
68634018356. 4

Question Number : 90 Question Id : 6863404636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statement:

A Iron is stored in tissues in the form of ferritin

B. Iron is stored in the tissues in the form of Haemoglobin
C. Aggregates of ferritin form Haemosiderin

D. Iron is not required for proper oxygen uptake by the body

Choose the correct answer from the options given below:

1. A and B only

[ ]

.AB and D only
3. Aonly

4. A, B and C only

Options :

68634018357. 1
68634018358. 2
68634018359. 3
68634018360. 4

Question Number : 90 Question Id : 6863404636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
fFafefad oyAl & ufleu:
A, W8 (3TA) I & BRI S =y d ulga siar e
B. TIg (310RA) 3! § garqifed & U d guRRd glar e
C. B & Uo grsia ad &
D. TR §RT G T80 - & folU 3R &I 1agadl ol sl
i feu 7Tt fawedl © § el STR &1 997 Fiult:
1. Had A IR B
2. $ad AB 3R D
3. A0 A

4. HBAAA. BARC

Options :

68634018357. 1
68634018358. 2
68634018359. 3
68634018360. 4

Question Number : 91 Question Id : 6863404637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During growth of bacteria, which of the following statements are correct?

A Bacteria exhibit lack of increase in number during lag phase
B. Bacteria multiply rapidly in exponential phase

C. Bacteria do not divide by binary fussion

D. Bacteria are not prokaryotes and they have gametes

Choose the correct answer from the options given below:

1. A only

[ ]

. B only
3. AAnd B only
4. C only

Options :

68634018361. 1
68634018362. 2
68634018363. 3
68634018364. 4



Question Number : 91 Question Id : 6863404637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (SHaT) B 3 & SRA. 5 § I S -9 $UF 981 57

A. SFINGI Uy WG & ERF G601 § gfg ¥ ol veRfd s §
B. 3311 IRUMI® a1 F il J 07 B3 &
c. Sadifear fgdsa @rge) fvem) gR favrfora e e @
D. SERIRAT (STam) Wb 76l 8 9Y1 3% U gHE ©
i fqu 7Tt fosedl § 9 981 3R &1 994 Sifo:
1. dhdd A
2. S B
3. Hadd A 3RB

4. Had C

Options :

68634018361. 1
68634018362. 2
68634018363. 3
68634018364. 4

Question Number : 92 Question Id : 6863404638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements that correctly describe bilirubin are

A. Bilirubin 1s the normal non-iron containing pigment present in the file

B. It 1s derived from the porphyrine ring of the haem moiety of haemoglobin
C. Excess of bilirubin cannot cause jaundice

D. Excess of bilirubin cannot be seen m hepatocytes

Choose the correct answer from the options given below:

1. Aand D only

| )

. B and C only
3. Aand B only

4. A. B and C only

Options :

68634018365. 1
68634018366. 2
68634018367. 3
68634018368. 4



Question Number : 92 Question Id : 6863404638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Byl BT 9T BTy ol fafersie & 98l T $d © -

A, Tafereie Ue SmMg SRA Ied auie § o [ J Sufud 8
B. U8 311 5 & URGERA 1 9 [Hfifa fear man g

C. fafersfem 3t siftrear ¥ difemn 7g siar

D. faferela 3t S ged DIRBISH T 181 SEl &1 Fobdl

i fou 7Tt fawedl © § 9El STR &1 997 Hifult:
1. Had A R D
2. $ad B 3R C
3. a0 A IRB
4. PAAA.BIARC

Options :

68634018365. 1
68634018366. 2
68634018367. 3
68634018368. 4

Question Number : 93 Question Id : 6863404639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Chi- Square test 1 associated with which of the following?

AL Tt 1s used to test for independence between 2 variables

B. It 15 used to test for homogeneity or similarity

C. It aids in testing the goodness of fit between an observed and expected distribution

D. It 1s calculated utilizing the hypothetical frequencies and actual counts of individuals lacking or having a

particular attribute.

Choose the correct answer from the options given below:

1. A only

[ ]

. A and C only

3. Aand D only

4. A. B and D only
Options :

68634018369. 1
68634018370. 2



68634018371.3
68634018372. 4

Question Number : 93 Question Id : 6863404639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BI5-a7 IR0 e H 3 fedd ddfta 82

A. T8 3 =R P Aoy FRUed & g wam o o aran aiemn g
B. U8 YE=9d 1 IO o=+ & To10 warT fasan o arer udieor g
C. g U quT SHTHd favur & 9aeH-g5gd1 (189 S fthe) & Wieu § 96 §
D. SHD! U], Ygb o1 gl e dul faadil ol drdide ol fo-d ue fafeny qor gufkia an
TR B, FT TN S &) Al ©
i f4U 77U fawedl § 9 el SR &1 99+ Hifulu:
1. Had A
2. FadA AR C
3. Had A IR D

4. BT A. B AR D

Options :

68634018369. 1
68634018370. 2
68634018371. 3
68634018372. 4

Question Number : 94 Question Id : 6863404640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A ICD44 I. |Thev have alpha and beta (CD18) subunits, they have a role to play in celll ECM interaction.
B. [Selectins II. [They are calcium dependent adhesion molecules
C. |Integrins III. |They find to hvaluronic acid, thev are expressed on leukocytes
D._ |[Cadherins IV |They contain lectin or lectin like protein molecules

Choose the correct answer from the options given below:

1. A-III, B-IV. C-1. D-II

| )

CA-ILL B-1L C-I1, D-IV

3. A-IL. B-III. C-IV. D-I

4. A-I. B-I1, C-III. D-IV



Options :

68634018373. 1
68634018374. 2
68634018375. 3
68634018376. 4

Question Number : 94 Question Id : 6863404640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 D1 Y 11§ A Siforg
SRl T I
S UIY Telhl gyl diel (CD18)
A |cD44 I [SUS®RE &. PIR® ECM TRER
fooa1 H 3] YDl §
B [gdiac 11 [gg $icqad HHR Ao A7 &

. e BTG 3 Tra 394 &,
C. [ ™[5 AR it i el g §
i, e v [FTH A e o UTETH 3]

i
fafeiad fasedl O 4 Tdl 3R &1 99 S

1. A-IIL B-TIV. C-1, D-II

[

AL B-1L C-ILL, D-IV

L¥ 5]

A-IL B-II1. C-IV, D-1
4. A-1. B-II. C-III. D-IV

Options :

68634018373. 1
68634018374. 2
68634018375. 3
68634018376. 4

Question Number : 95 Question Id : 6863404641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Anterior Pituitary Gland] 1. |Adreno corticotropic hormone
B. [Pancreas IT. |Tri-iodothyronine
C. |Thvroid gland 111 [Melatonin
D. [Pineal gland IV, |Insulin

Choose the correct answer from the options given below:

1. A-IL. B-III, C-IV. D-I

| ]

CA-TV, B-III. C-1I1. D-1
3. A-L. B-IV, C-II, D-III
4. A-III, B-11., C-IV. D-I

Options :

68634018377. 1
68634018378. 2
68634018379. 3
68634018380. 4

Question Number : 95 Question Id : 6863404641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
T 1 T 1
A |[3Emdm U] 1 [TEH @@t e
B. |smmEm 1L [eTs-HEISIURRHH
C |urRms 3 | m [Hara
D. [fHma oy |1V g

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-II. B-ITI. C-IV. D-I

| o

. A-IV, B-III. C-II. D-1
3. A-L. B-IV, C-II. D-III
4. A-I11, B-11. C-IV. D-I

Options :

68634018377. 1
68634018378. 2
68634018379. 3
68634018380. 4



Question Number : 96 Question Id : 6863404642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Phase) LIST II{Events)
A Gl 1. [Mitosis occurs with prophase metaphase, anaphase and telophase
B |s II. It 1s regulated by Cyclin E
C. |G2 III. |It 1z a short gap phase, the correctness of DINA synthesis 13 checked|
D M IV |Synthesis of DNA takes place

Choose the correct answer from the options given below:

1. A-IIT, B-1. C-IV. D-II

| )

CA-L B-II, C-III, D-IV

L

. A-IL B-IV, C-I11. D-1
4. A-IV. B-11. C-I11, D-I

Options :

68634018381. 1
68634018382. 2
68634018383. 3
68634018384. 4

Question Number : 96 Question Id : 6863404642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T 1 T I

P! TqUTSH, Ui, Helbhd,

A Gt L ?Waméﬁdmﬁwamﬁﬂ%ﬁm
=

B |5 1. [fg 9EfeaH E gl Habd eldl &
%qu&mmﬂ?

C. lc2 111 [31 U4 U Ui &1 Seiddl Sl
EiGIE

D. v V. [S1 T U &1 G2y gldl &

FafaiRad foeweal § O Ugl 3R &l 904 SIfo

1. A-IIL B-1, C-IV, D-II

[ 2]

CA-L B-IIL C-II0, D-IV

3. A-IL, B-IV. C-I11, D-I

4. A-IV, B-I1. C-1I1, D-I



Options :

68634018381. 1
68634018382.2
68634018383. 3
68634018384. 4

Question Number : 97 Question Id : 6863404643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Microbe) LIST II (Associated structure)

A |Leishmarnia donovani | 1. [Trophozoite and Cyst

B. |Eniamoeba histolytical 1. [Hvphae

C. Hspergillus II1. Promastigote and Amastigote
D. [Bacterium IV |Peptidoglvcan and nucleoid

Choose the correct answer from the options given below:

1. A-IL. B-ITI, C-IV. D-I

| )

A-ILL B-IV, C-I1II. D-1
3. A-IIIL, B-1, C-II, D-IV
4, A-L. B-II, C-III, D-IV

Options :

68634018385. 1
68634018386. 2
68634018387. 3
68634018388. 4

Question Number : 97 Question Id : 6863404643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T 1 g 1
R S0 | 1 [ereleige o R (@@
esnliel ewifaied] 1L Bl (daddq)

S ERE I [JIHEIE aul THERRT

da gy @ianp | 1v [UipEiarie qul bt
frafaRad foeed & 3 98t TR &1 991 DI

1. A-II. B-ITI. C-IV. D-I

ofofw]s

2. A-IL B-IV, C-111, D-I
3. A-IIL. B-1, C-II. D-IV
4. A-1. B-I1. C-III, D-IV

Options :

68634018385. 1
68634018386. 2
68634018387. 3
68634018388. 4

Question Number : 98 Question Id : 6863404644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A I. |Prothrombin
B. |II II. [Fibrinogen
C. [T I |ca™?

D. IV IV, |Tissues factor

Choose the correct answer from the options given below:

1. A-I1. B-1. C-IV. D-ITI
2. A-ILL B-1I1. C-1. D-IV
3. A-I. B-II1. C-IV. D-II
4. A-IV. B-1I. C-1. D-III

Options :

68634018389. 1

68634018390. 2

68634018391. 3
68634018392. 4



Question Number : 98 Question Id : 6863404644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
TqaT T T I
Al 1. [wiuifes
B. |1 8 FAERIER
C. |oI 1L Jca2
D. v V. [$d® &R&
fFrafeiad fasedl o 9 98t GR &1 99+ S -

1. A-II. B-1. C-IV, D-III

| )

AL B-ILL, C-1L D-IV
3. A-L B-III, C-IV. D-II
4. A-IV. B-11. C-I, D-III

Options :

68634018389. 1
68634018390. 2
68634018391. 3
68634018392. 4

Question Number : 99 Question Id : 6863404645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Name of bones)[LIST II (No. of bones)
A |Cervical Spine I. 12

B. |[Thoracic Spine II. b

C. [Lumbar Spine I

D. |Cocevx V. |/

Choose the correct answer from the options given below:

1. A-III, B-1. C-1I. D-IV

| )

CA-IV, B-III, C-I, D-I1
3. A-1. B-II. C-III, D-IV
4. A-IV. B-1. C-II, D-III

Options :

68634018393. 1

68634018394. 2
68634018395. 3



68634018396. 4

Question Number : 99 Question Id : 6863404645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
i1 et 11
Rt Fam | sifRmt $t wen
[EdeawEa]| 1 iz

; II.
R [m
_ [oiead V.
FfaiRad foseal § O 98! SR & 904 DI

1. A-III, B-1. C-II. D-IV

(ol Nl lssl =
[ N

2. ATV, B-1II. C-I. D-II
3. A-L B-II. C-III. D-IV
4. A-IV, B-1. C-II, D-III

Options :

68634018393. 1
68634018394. 2
68634018395. 3
68634018396. 4

Question Number : 100 Question Id : 6863404646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Molecule) | LIST II (Content)
Proteins I. [Leucine

ENA II. |Polymers
Polysaccharide | 111 JAmino acid
Pulses IV. [Nucleic acid

e

Choose the correct answer from the options given below:

1. A-II. B-IV, C-I, D-I1

| E)

AL B-IV. C-11. D-1

3. A-L B-III, C-II, D-IV

4, A-IV, B-11. C-1, D-III



Options :

68634018397. 1
68634018398. 2
68634018399. 3
68634018400. 4

Question Number : 100 Question Id : 6863404646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
Gl TqA I
A A= L =
B |¥RUAT 1 [sga®
C. [Aca@gs @H)| 1. [3iHT 3
D. [arct V. [idad 3

FafaRad o eal © O 9gl SR & 994 DI

1. A-IL. B-IV. C-I, D-I1

|

AL B-IV. C-11. D-1
3. A-L. B-III, C-II. D-IV
4. A-IV. B-1I, C-1, D-III

Options :

68634018397. 1
68634018398. 2
68634018399. 3
68634018400. 4



